do/dp_ [pb/GeV]

Ratio to ATLAS

T

1072

1073

[EEY

0.5

7000 GeV pp Jets

I I I | I I I | I I I I I | ﬂ
= . EL
- Jet P, (antl-kT(O.4)) s >
=
= —=m
= =N
L A
__ e
= =
— = 27)
B 48
_ 1=
= =04
~ 1=
= — ™M
= 3
— - m
— i
_ m ATLAS 9
= --G-- Pythia 6.428 345 = 5
~ 0 Pythia 6.428 346 e
= —A— Pythia 6.428 370 @ =<
~ Pythia 6.428 default T mi=
= —a— Pythia 8.209 default | — 8
— 3 un
- e
o
= —] (&)
= | | | | | | | | | | | | ] | E E

: T T T | T T T | T T | T T T |:
— =2
5 A\\‘\‘/*/H/ﬂ\ : 11

| D _|

— | —0.5
| . i . |
600 800

pT(2nd jet) [GeV]



	Contents
	Page 1


